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OEMA B
B1.

def trim_a(sl):
§2=" ¢
for letter in s1:
if letter!=""A"’ and letter!=""a"" :
s2+=letter
return s2

B2.

@)73 181 145 98
B)73 29 12

B3.

i=0
while i < 10:
j=10
while j > -1:
print i*]
i
=1+l
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OEMA I

pl=0.0
plp=0
max =0
onoma = raw_input (‘A®ce dvopa vroymeiov’)
while onoma != ‘TEAOY’ :
pl+=1
sum=0.0
flag= True
for i in range (10):
vathmos= input(‘Amce Babporoyia’)
while vathmos > 20 or vathmos < 1 :
vathmos= input(‘ Aoce &yxvpn Padupoloyia’)
sum+= vathmos
if vathmos < 12:
flag=False
mo=sum/10
print mo
if mo > 15 and flag= True:
print ‘TIpoxpivecau!’
plp+=1
if mo > max:
max= mo
onoma = raw_input(‘Adog dvopo vroymeiov’)
print max
pos= (plp/pl)*100
print pos, ‘%’
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OEMA A

f= open(‘branch.txt’,’r’)
ON=T[]
for line in f:
ON.append(line)
f.close()
N=len(ON)
S _POSO=[]
sum2=0.0
for i in range (N):
sum= 0.0
for j in range (30):
eis= input (‘Amoce nuepicla gionpaén’)
sum+= eis
S_POSO.append(sum)
sum2+=sum
mo =sum2 /N
print mo
counter =0
foriinS_POSO:
if i>=mo:
counter+=1
print counter
for i in range (N-1):
for j in range (N-1, i, -1):
if S POSOIj] > S_POSOJj-1]:
S_POSO[j], S_POSOJj-1] = S_POSOJj-1], S_POSOJj]
ON[j], ON[j-1] = ON[j-1], ONIj]
elif S_POSO[j]==S_POSO[j-1]:
if ON[j] < ONIJj-1]:
ON[j], ON[j-1] = ONJj-1], ONIj]
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